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1. BT~ T /(aa: + b)7da:

° Watch Video Solution

$2

dx

2. 7d1PpeTA <D(.<Ii:/
2+ g3


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_cvAT69kyzMfo
https://dl.doubtnut.com/l/_1wmqwCSIKsK9

° Watch Video Solution

3.5{‘EFI?I‘>_¢1?IEIT(2IT:/6$(sina: + cos z)dx

o Watch Video Solution

4. STHIPAA IEH: /than z3dz

° Watch Video Solution

. . zdx
5. dTHhedA <D(.<l|:/

V3zr2 +1

o Watch Video Solution



https://dl.doubtnut.com/l/_1wmqwCSIKsK9
https://dl.doubtnut.com/l/_biB3P93gl0rX
https://dl.doubtnut.com/l/_qKRyvD1LATP6
https://dl.doubtnut.com/l/_R6zZ79F6TYzD
https://dl.doubtnut.com/l/_vvB1Cz29WTF3

G.WWT:/(tanx — z)tan® zdz

o Watch Video Solution

cos 'z

A RIGER! <1>(.<1i:/—
V1 — g2

dx

o Watch Video Solution

8. mﬁww/w—ﬂd,fp

1)°

° Watch Video Solution

axr + b
cr + e

9, JiH fAdg I



https://dl.doubtnut.com/l/_vvB1Cz29WTF3
https://dl.doubtnut.com/l/_HxJsKBR0TwFB
https://dl.doubtnut.com/l/_N0kxc6GCg5d9
https://dl.doubtnut.com/l/_ZjJ0z2JraJM3

[ o Watch Video Solution

dx

1aﬂmﬁﬁmm§/
var +b+ +axr —b

° Watch Video Solution

i

namﬁﬁmmﬂf dz

VT +1

o Watch Video Solution

CL‘7

12. 917 A7 FEt: dz

r—1

° Watch Video Solution



https://dl.doubtnut.com/l/_ZjJ0z2JraJM3
https://dl.doubtnut.com/l/_zRkFfT2TvV8e
https://dl.doubtnut.com/l/_h9Ro0jq5hPyt
https://dl.doubtnut.com/l/_FTpkbDFKR3l4
https://dl.doubtnut.com/l/_w8kgIF5Bk95W

13. m?rﬁcrzrm/

3
2 — 2)>2

o Watch Video Solution

dx
z?(z* + 1)

14. T fAg St

3
4

o Watch Video Solution

e’ —1
e +1

15. fAFfAIfI® TFIBARTIT T AT S dz

° Watch Video Solution

m_|_1

16. fARTARIG TIFAR AT FIA AT FEt: dx


https://dl.doubtnut.com/l/_w8kgIF5Bk95W
https://dl.doubtnut.com/l/_vTGsGtMuuYRd
https://dl.doubtnut.com/l/_c1a1cWI1KHYY
https://dl.doubtnut.com/l/_3s5SCSjoJn8H

o Watch Video Solution

17. ﬁﬁﬁﬁl—wsmmﬁwm/
ver —1

° Watch Video Solution

18. A AT BQ:

:1:\/332 — a?

o Watch Video Solution

e

sin x cos a:

19. 17 fAST Bt

° Watch Video Solution



https://dl.doubtnut.com/l/_3s5SCSjoJn8H
https://dl.doubtnut.com/l/_OyCwj07jvEjq
https://dl.doubtnut.com/l/_OCeEzfdyzPbc
https://dl.doubtnut.com/l/_Ijot9KceuG0m
https://dl.doubtnut.com/l/_vdP4czvefdao

Jz

20. ¥4 fRfT @ [ ——d=
Jas — 23

° Watch Video Solution

tan xdz

a + btan? z

21. I RS It

° Watch Video Solution

22, JHIPIA BEI: ftan ¢ tan 2z tan 3xdx

° Watch Video Solution

. . sinx
23, THIPAN DI [ — dx
sin(z — a)



https://dl.doubtnut.com/l/_vdP4czvefdao
https://dl.doubtnut.com/l/_CGlETjYBYnEZ
https://dl.doubtnut.com/l/_29Qmyfe8PiDH
https://dl.doubtnut.com/l/_tUi0MdHL3a6y

o Watch Video Solution

24. I HTOTHPI6 WEIHEPI x-99 FEGEF FIdeT Ay

- sec(+/T)
/T

° Watch Video Solution

25. AIbd HTOTPI6 WP x-99 FEAGEF qIdeT Ay

cot?

EGIE

cosecr — 1

° Watch Video Solution

og(log x)

26. WWf dr
xlogax



https://dl.doubtnut.com/l/_tUi0MdHL3a6y
https://dl.doubtnut.com/l/_WUrnRqWCQnkJ
https://dl.doubtnut.com/l/_25OAHI6Ht6ta
https://dl.doubtnut.com/l/_W6iGvpvTtqBb

\ o Watch Video Solution

cos ecxdx

27. A6 I W6 AT FEM:
log(cos ecx — cot x)

° Watch Video Solution

rzetdx
28.WWT:/—
(x +1

)2

o Watch Video Solution

ZQ.WWT:/e””(tanx — logcos z)dx

o Watch Video Solution



https://dl.doubtnut.com/l/_W6iGvpvTtqBb
https://dl.doubtnut.com/l/_lo0X3EfsuKwa
https://dl.doubtnut.com/l/_KKU7r0oRnmxa
https://dl.doubtnut.com/l/_r6j22XxIKO4Z
https://dl.doubtnut.com/l/_sO3oprpDdBnJ

dx
asinx + bcoszx

30. J17 fASg Bt

o Watch Video Solution

sinx
31. D AA <D(.<ﬂ:/ dx
v/1+sinz

o Watch Video Solution

dx

32. WW/
\/sm zsin(z + a)

° Watch Video Solution

cos xdx
sin(2x)

33. TP BT



https://dl.doubtnut.com/l/_sO3oprpDdBnJ
https://dl.doubtnut.com/l/_pFVftJWr7sCp
https://dl.doubtnut.com/l/_brdGfLPOwnYV
https://dl.doubtnut.com/l/_wM0vhGgycLGi

° Watch Video Solution

34WW/
2%—w-+—1

o Watch Video Solution

zdx

35, JiF fAdfg S

2rt — 3x2 — 2

° Watch Video Solution

etdx

36. ST [PcTv BT

1 — 3e* — 3e?*

o Watch Video Solution



https://dl.doubtnut.com/l/_wM0vhGgycLGi
https://dl.doubtnut.com/l/_7oUkKI0EsFdJ
https://dl.doubtnut.com/l/_nr1nYucZlgRD
https://dl.doubtnut.com/l/_UyiiAQkT96zZ
https://dl.doubtnut.com/l/_Mq73n7m91shk

(3z — 5)dz

37. TP AN Pdl:
x?2 — 2z + 10

° Watch Video Solution

dx
+3x+4

38. J17 fAdg F@: /
V222

° Watch Video Solution

. . dzx
39. TP eIA <D(.<||:/
V3 — bz — 2z2

o Watch Video Solution

dx

40. TR II:
/\/(fL' —a)(B—z)



https://dl.doubtnut.com/l/_Mq73n7m91shk
https://dl.doubtnut.com/l/_K5hsHX18amr7
https://dl.doubtnut.com/l/_b8TY36YgvAzH
https://dl.doubtnut.com/l/_CdHF6x5syyns

\ o Watch Video Solution

) 1
41. J1F fAdg It / Tt dx
V4

+ 8z — Hx?

o Watch Video Solution

2 _
42, P AA <D(.<ﬂ:/2w Sz +9 dzx
x2+4r — 5

° Watch Video Solution

dz
(2z — 3)4/3z + 2

43, I {3y /

o Watch Video Solution



https://dl.doubtnut.com/l/_CdHF6x5syyns
https://dl.doubtnut.com/l/_zGaQdVzhCFBD
https://dl.doubtnut.com/l/_8zvLpdFrKWPm
https://dl.doubtnut.com/l/_XTIb4xD7jzdq
https://dl.doubtnut.com/l/_OWto2taFCObn

dx
T — 3)v2x2 — 12z + 17

44, 15T Pl /(

o Watch Video Solution

, i
4557 R 3 [, /< i_zdw

o Watch Video Solution

dzx
2r2 + a2)\/m

46.WWT:/(

o Watch Video Solution

47. 917 R St: /(2:c2 + 5z + 6)dx


https://dl.doubtnut.com/l/_OWto2taFCObn
https://dl.doubtnut.com/l/_ls9oztIgMvls
https://dl.doubtnut.com/l/_OngCRujDjq4o
https://dl.doubtnut.com/l/_tSOM70ofYLVh

o Watch Video Solution

48.‘Erﬁﬁcf,2r$(?ﬂ:/(2w2 — bz + 6)dz

o Watch Video Solution

1 )
49, ad z-a3 STAGES AFIHA AT Bl
(z +b)(xz + a)

° Watch Video Solution

cos 2xdx

sin*z + cos? z

50. YIPeT fAT Frat

o Watch Video Solution



https://dl.doubtnut.com/l/_tSOM70ofYLVh
https://dl.doubtnut.com/l/_8g8Q71BqvYh0
https://dl.doubtnut.com/l/_cj8YmnIdBG82
https://dl.doubtnut.com/l/_8G11fHJ5jVqd
https://dl.doubtnut.com/l/_O5TwbdjAPomu

\/Cos 233

sinx

51. Wﬁcrzrw/

° Watch Video Solution

\/Cos 2:v

sinx

52. Wﬁcrzrzm’r/

o Watch Video Solution

53, qIHe fAcfg Bt (Sm T a;)dm

sin(x +

° Watch Video Solution

Exercise


https://dl.doubtnut.com/l/_O5TwbdjAPomu
https://dl.doubtnut.com/l/_50wIwLpqS0he
https://dl.doubtnut.com/l/_YXQVhwxPApH7
https://dl.doubtnut.com/l/_Ou6KijIbfGHy

. /%(wlogw + 1)dz S R o TR
ﬂa'_

Azlogx = 2

B.e’logx = z

1
C.—=12z
T
eiL‘
D.— =2
T
Answer: B

° Watch Video Solution

2 / ]; ((;)) dz —


https://dl.doubtnut.com/l/_Ou6KijIbfGHy
https://dl.doubtnut.com/l/_nTHEj32Xfloo

A f(z)f'(z) +c

B.log f(z) + ¢

C.log|f'(z)| + ¢

D.log|f(z)| + ¢

Answer: D

° Watch Video Solution

3. fv2-\?/a:3—5dw B fAfg afegiar sifysaaft

A(J—

Azl —5=2

B.z°> — 5 = 22


https://dl.doubtnut.com/l/_nTHEj32Xfloo
https://dl.doubtnut.com/l/_LNhG6h9vA7YD

C.x® -5 =23

D.z3 — 5 = 24

Answer: C

o Watch Video Solution

4, /can rdr =

A. —log|cos z| + ¢
B. —log|sinz| + ¢
C. —log|sinz| + ¢

D.log|sinz| + ¢


https://dl.doubtnut.com/l/_LNhG6h9vA7YD
https://dl.doubtnut.com/l/_MYynoH3Nyopr

Answer: A

° Watch Video Solution

5, /e‘”{gzﬁ(a:) + ¢’ (2) }dasTaTeet i dfowism TS

A(d—

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_MYynoH3Nyopr
https://dl.doubtnut.com/l/_InMj4nLuYt9e

6. /:os ecxdr =

A.cosecxcotx + c

x
B. log|tan E‘ +c

x
C.log|cot 5‘ +c

D. cosecx — cot2 T +c

Answer: B

o Watch Video Solution

/ dx
7. [—— =
z log|x|


https://dl.doubtnut.com/l/_InMj4nLuYt9e
https://dl.doubtnut.com/l/_vgVCQRXWbZjo
https://dl.doubtnut.com/l/_vKqnq1GIjfOk

C.log|log|z|| + ¢

D +c

log|z|

Answer: C

o Watch Video Solution

in(1
S.de
T

A.cos(logx) + c
B. —cos(logz) + ¢

C.sin(logz) + ¢


https://dl.doubtnut.com/l/_vKqnq1GIjfOk
https://dl.doubtnut.com/l/_dPxTpZQ6oEfR

D. —sin(logx) + ¢

Answer: B

o Watch Video Solution

Answer: C

[ o Wiakl. \NnNdaa Caliidkiam


https://dl.doubtnut.com/l/_dPxTpZQ6oEfR
https://dl.doubtnut.com/l/_HVstWRdvXpNX
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10. /53”6_4da:

5324 4 ¢

A.
log5

53:2—4

B.
3logb
5333—4

C. —
3loghH

+c

+c

D.3log5 - 5374 4 ¢

Answer: B

° Watch Video Solution

1. /\/2 — 3xzdx =


https://dl.doubtnut.com/l/_HVstWRdvXpNX
https://dl.doubtnut.com/l/_xBXurr4oTsei
https://dl.doubtnut.com/l/_rBvZL2bg1fsC

3
2

2
A.—§(2—3$) + c

1 _1
B.—E(2—3JJ) 2 + ¢

o |

C.—2(2—3xz)2 +c

1

D.—3(2—3z) ? +¢

Answer: A

o Watch Video Solution

12. fcan rdr =

A.log|cos x| + ¢
B. —log|cos z| + ¢

C. —log|sinx| + ¢


https://dl.doubtnut.com/l/_rBvZL2bg1fsC
https://dl.doubtnut.com/l/_UqqpaGfbQB9T

D.loglsinz| + ¢

Answer: B

o Watch Video Solution

13./(3 — 4z)dz =

1 5
A——(3—-4
20(3 z)” +c

B.— (3 —4x)® + ¢

4
C.—g(3—4w)5 +c

D. —16(3 — 42)® + ¢

Answer: A

[ o Wiakl . \NnNdaa Caliidkiam


https://dl.doubtnut.com/l/_UqqpaGfbQB9T
https://dl.doubtnut.com/l/_ZpNjz650oHWR

L Vvvdlilll VIUCU JVIULIVII

Answer: C

° Watch Video Solution

15. TP~ dEH: [22cos z2dx

| &~


https://dl.doubtnut.com/l/_ZpNjz650oHWR
https://dl.doubtnut.com/l/_i9xFeICr2Bdm
https://dl.doubtnut.com/l/_3Da3MVJ24nQJ

[ W Watch Video Solution

16.${EI'IWEF(T<IT:/(2 — 3z) dx

o Watch Video Solution

dx
a + bx

17. AHIH T Bl

o Watch Video Solution

18. HTH A P[l: |2 sin(ac2 + 1) dx

° Watch Video Solution



https://dl.doubtnut.com/l/_3Da3MVJ24nQJ
https://dl.doubtnut.com/l/_DC9hTf3G3kQt
https://dl.doubtnut.com/l/_7mTa1SikWWqM
https://dl.doubtnut.com/l/_CGeKZolkjPcu
https://dl.doubtnut.com/l/_J4Mo1meRHWy2

19. 3IIHA SEL: [sec? (7 — 4a)dx

o Watch Video Solution

20. TTIPAF I [sin(3 — 4x)dx

° Watch Video Solution

21. IBeTd SEL: [cos? (22 + 3)dx

o Watch Video Solution

dx

22, YIHcTA B{I:
x logx

° Watch Video Solution



https://dl.doubtnut.com/l/_J4Mo1meRHWy2
https://dl.doubtnut.com/l/_IEPQVeD3Bd6E
https://dl.doubtnut.com/l/_PDSc1XRcQcnZ
https://dl.doubtnut.com/l/_Mwc4E3oBUX8S

23. T IPeTd BEl: sz‘?"”da:

° Watch Video Solution

24. TP <D(.<1i:/102m_5d:13

° Watch Video Solution

dx

25, 7T 1PAN @l [ ——
vaxr + b

° Watch Video Solution



https://dl.doubtnut.com/l/_Mwc4E3oBUX8S
https://dl.doubtnut.com/l/_5SpCQnNIyE6Y
https://dl.doubtnut.com/l/_3cQrrHzn4vrM
https://dl.doubtnut.com/l/_f1X7ixKBJwpZ

_ _ fcos(logx)
26. AT [HdAA <D(.<II:/—d:c
XL

o Watch Video Solution

27. P Pl | ————dx

os(v3)
Jz

o Watch Video Solution

28. HIHeT SEI: [sin z sin(cos x)dz

o Watch Video Solution

29.Wm:/e"°t‘lm-
1+ 22


https://dl.doubtnut.com/l/_0BDo70LIcS4r
https://dl.doubtnut.com/l/_X1YeXuOTTt77
https://dl.doubtnut.com/l/_ZRjjC3peNmht
https://dl.doubtnut.com/l/_4wd5rhHEi5Tx

° Watch Video Solution

in(tan_l :13)

1+ z2

dx

30. A THeTA <I3(.<ﬂ:/s

° Watch Video Solution

-
asin” " x
e

31. [P dl: [—d=x
V1 — x2

° Watch Video Solution

32. B <1>(.<ﬂ:/x z? + 1dx

o Watch Video Solution



https://dl.doubtnut.com/l/_4wd5rhHEi5Tx
https://dl.doubtnut.com/l/_Dtj1VWqjamhk
https://dl.doubtnut.com/l/_SM8pIgmmCBU2
https://dl.doubtnut.com/l/_CFHP6UOSXt8E

33, AP <D(.<Ii:/333 2t — Adx

o Watch Video Solution

xdx

34, JqIHPAA I | ———
V3zx2 + 4

° Watch Video Solution

sin®

35. MFIHeTA Sl dx

cost

° Watch Video Solution

36, T tant \/z sec? /z

Jz


https://dl.doubtnut.com/l/_6JUxLVeZEE24
https://dl.doubtnut.com/l/_YufKPtc2bkd1
https://dl.doubtnut.com/l/_QhRu4I4y1LRh
https://dl.doubtnut.com/l/_3wDWtxGlCdAk

° Watch Video Solution

(141
375{znam:rm/ + loga)’ dz

o Watch Video Solution

Cos T

v1+ sm:z:

38. MFIHeTA Bl

o Watch Video Solution

39.Wm:/1;2 - /xd + 8da

° Watch Video Solution



https://dl.doubtnut.com/l/_3wDWtxGlCdAk
https://dl.doubtnut.com/l/_mxeHorAQwpwg
https://dl.doubtnut.com/l/_aKKwWI6ElODk
https://dl.doubtnut.com/l/_l50kz9pw443J
https://dl.doubtnut.com/l/_RLBOvEfqshWd

40.WWT:/($ + cot z)cot? zdzx

° Watch Video Solution

. . d
41. 571PeTA <1>(.<n:/&

sin®(x2)

o Watch Video Solution

1+ cotzx
42, AT AN Pdl: dz

z + log(sinz)

° Watch Video Solution

43, THIHAN BEM: [e” cos?(e”)dx



https://dl.doubtnut.com/l/_RLBOvEfqshWd
https://dl.doubtnut.com/l/_8zrypqeAz124
https://dl.doubtnut.com/l/_olsh4bu5FdAg
https://dl.doubtnut.com/l/_CI3S3D1EhqJa

I o Watch Video Solution

1 1
44.Ww:/7 . —2dar:
xr

o Watch Video Solution

45, NI BEM: fn2 .10 da

o Watch Video Solution

cosT + xrsinx
46. TJTH AN II: dx
z(z + cos x)

° Watch Video Solution



https://dl.doubtnut.com/l/_CI3S3D1EhqJa
https://dl.doubtnut.com/l/_CSmEfshiEE3w
https://dl.doubtnut.com/l/_vQ5FUMY0PG7X
https://dl.doubtnut.com/l/_QRZ7vUHDNhJE
https://dl.doubtnut.com/l/_eDMwvt4DzlBQ

dx
1+ x2)y/tan 'z + 4

47.W2|‘>‘(?IT:/(

o Watch Video Solution

48. 5T 1Dh T Pdl: /\/2 + sin 3t cos 3tdt

° Watch Video Solution

49, ST1HAF BEI: [tan® 2z sec 2zdx

o Watch Video Solution

$5

50. AP @l [———dx
V14 23



https://dl.doubtnut.com/l/_eDMwvt4DzlBQ
https://dl.doubtnut.com/l/_qM2e7lfyF055
https://dl.doubtnut.com/l/_Y3hs26I49ltv
https://dl.doubtnut.com/l/_mCzYkJ5XizR9

l @Y Watch Video Solution

x2dx
51. 1P T~ Pdl:
ve+1

° Watch Video Solution

¢
52. THIBAT A |— ol g

"J log(cos )

o Watch Video Solution

Tz — 3

53. TP AAN BI:
3x + 4

dx

° Watch Video Solution



https://dl.doubtnut.com/l/_mCzYkJ5XizR9
https://dl.doubtnut.com/l/_Bs3LG3oBtVUr
https://dl.doubtnut.com/l/_VVfGtq1QVQ9l
https://dl.doubtnut.com/l/_MLn8dcQvVfIO
https://dl.doubtnut.com/l/_nO636Dj3oQcE

sec xdx

54. TG FI:

log(tanx + secx)

o Watch Video Solution

55, HIBA BET: $in 6z — sin 2z de
cos 6 — cos 2z

o Watch Video Solution

dx

cos ecdx — cot 4x

56. MATHeTA Bl

o Watch Video Solution

sin 2zdx

57. AF1HeTA <D(.<ﬂ:/

a2sin’z 4+ b2cos2 z

| &


https://dl.doubtnut.com/l/_nO636Dj3oQcE
https://dl.doubtnut.com/l/_0WinZGvB7SD9
https://dl.doubtnut.com/l/_de8R3HpOZMB4
https://dl.doubtnut.com/l/_Jb4X53x7dCxC

[ W Watch Video Solution

5g. . tan x sec? zdzx

Va2 + b2 tan’ z

° Watch Video Solution

1)d
59. TP cTA <1>(.<1i:/ (v +1)dz
V1—2z — 22

° Watch Video Solution

(4z — 3)dx
JA4x? — 6x + 9

60. AT TH T H{I:

o Watch Video Solution



https://dl.doubtnut.com/l/_Jb4X53x7dCxC
https://dl.doubtnut.com/l/_YkLui7YFTIWO
https://dl.doubtnut.com/l/_zZaRN62AW5ht
https://dl.doubtnut.com/l/_yWutU9MDD2a8
https://dl.doubtnut.com/l/_wdr6Crs4eKFR

61. STATDH T I{T: dz
JT¥3— T T2

o Watch Video Solution

dx

GZ.WWT:/
Vir + 3 — y/4x — 3

o Watch Video Solution

r —a

63. M IHcTA Bl dx

T+ a

o Watch Video Solution

z+3

64. TP AN BI:
3x — 4

dx



https://dl.doubtnut.com/l/_wdr6Crs4eKFR
https://dl.doubtnut.com/l/_l9fAAWZ54q1T
https://dl.doubtnut.com/l/_J7HBI2D4MCCr
https://dl.doubtnut.com/l/_ZWQxUEeY0STl

l ¥J Watch Video Solution

GS.WW:fE -z + 2dx

° Watch Video Solution

66. ST <D(.<ﬂ:/(2ac — 5)4/2z + ldz

° Watch Video Solution

. ) 20 — 1
YA RIGEE) <|>(.<n:/—d;c

(z +1)°

° Watch Video Solution



https://dl.doubtnut.com/l/_ZWQxUEeY0STl
https://dl.doubtnut.com/l/_9w35Xap0iMrY
https://dl.doubtnut.com/l/_AkQ01xSSd1O6
https://dl.doubtnut.com/l/_qv5jeNbGDPSV
https://dl.doubtnut.com/l/_rhCsxtSlhHoV

T
a + bx

68. M IHeTA Bl dx

o Watch Video Solution

69. A IHIA <1>(.<11:/de
Jqxr +r

o Watch Video Solution

6

70. T TPcTA DEl: dx

r—1

o Watch Video Solution

dr
T+ \/x

71. AP T HEl:



https://dl.doubtnut.com/l/_rhCsxtSlhHoV
https://dl.doubtnut.com/l/_mvW5ismbBlx3
https://dl.doubtnut.com/l/_zLam1mKajOoR
https://dl.doubtnut.com/l/_9qHukS3uRJW0

[ W Watch Video Solution

72. 7 1Ppc1A <b(.<1i:/d—w
r—1

° Watch Video Solution

3 2 o
73.%25(.%/‘” t3T A2 T
2¢ +1

° Watch Video Solution

e2a:

74. AP cT DEl: pr—

dx

o Watch Video Solution



https://dl.doubtnut.com/l/_9qHukS3uRJW0
https://dl.doubtnut.com/l/_XmrGT8TbVHQb
https://dl.doubtnut.com/l/_cFcaPB2DjYhV
https://dl.doubtnut.com/l/_n29oDujYQsHo
https://dl.doubtnut.com/l/_RoJFBIa5yscz

z+1

75. THIPeTA DA ( )(w + logz) dx

° Watch Video Solution

76. AT THAA <D(.<ﬂ:/ p
1+ e2

o Watch Video Solution

dx

77. T 1HAN DI
1+ e®

o Watch Video Solution

etdx

JeE 18

78. TATH A Pl



https://dl.doubtnut.com/l/_RoJFBIa5yscz
https://dl.doubtnut.com/l/_fGmm0jdMJCMQ
https://dl.doubtnut.com/l/_72Jpk8G5pNyo
https://dl.doubtnut.com/l/_TlcvMDMgMbQG

| ¥ VWatch Video sSolution

e.’L’

1+ e22

79. TH P~ Pl dx

o Watch Video Solution

2ZB

80. TH DB Il
27 +1

dx

o Watch Video Solution

81WW/10 _1d:13
10° + 1

° Watch Video Solution



https://dl.doubtnut.com/l/_TlcvMDMgMbQG
https://dl.doubtnut.com/l/_wA9UXiUBJIPS
https://dl.doubtnut.com/l/_uYv0V4LtFQak
https://dl.doubtnut.com/l/_4FfSpGqkETQ2

vianzx

cost x

82. S IpeTd B{T: dx

o Watch Video Solution

sinx
83. A<D T Ddl: dx
\/ cos® T

° Watch Video Solution

1 1
M.WW;/(l — —2>e“’+?d:1:
T

o Watch Video Solution

e”(1 4+ x)
85. FIPpcTd dl: [——d=x
cos2(ze?)


https://dl.doubtnut.com/l/_K3vKObL7QFQz
https://dl.doubtnut.com/l/_qswmpIf6RCtP
https://dl.doubtnut.com/l/_Fo0wKDGny2rO
https://dl.doubtnut.com/l/_82aOTseCmIJ4

° Watch Video Solution

dx
2241 — 22

86. M IH T Bl

° Watch Video Solution

. . x2dx
87. DA P[l:

(a + bac)2

o Watch Video Solution

dzx
22+/a2 + 22

88. TR T Bl

o Watch Video Solution



https://dl.doubtnut.com/l/_82aOTseCmIJ4
https://dl.doubtnut.com/l/_KMcbzXEvA8C2
https://dl.doubtnut.com/l/_FgiZwXF89TyM
https://dl.doubtnut.com/l/_wyJmqjapstCs

dx

1+ 22)y/1 4 x2

SQWW/

o Watch Video Solution

dx

90. WW/ —
1 — 22)y/1 — 22

o Watch Video Solution

91. ATH T Il de
3y/x? — 1

° Watch Video Solution

dr

1—x)y1— z2

QZWW/


https://dl.doubtnut.com/l/_ltuGcAY827ax
https://dl.doubtnut.com/l/_FN49LuUSGrJs
https://dl.doubtnut.com/l/_BCMvRZ5X5S14
https://dl.doubtnut.com/l/_zju820bQF0MV

° Watch Video Solution

COS5 T

93. IR T Bl dx

sinx

° Watch Video Solution

dx

m.wm:/
Ve+ 1+ 3z +1

o Watch Video Solution

x3dr

95, HIdP Pdl: | ——
V1 — x2

° Watch Video Solution



https://dl.doubtnut.com/l/_zju820bQF0MV
https://dl.doubtnut.com/l/_NW1IXWcj5OBK
https://dl.doubtnut.com/l/_GqTzOMjHbjIW
https://dl.doubtnut.com/l/_5NmsijOWVuUh

(a? —zc)3

QGWW/\/

o Watch Video Solution

97. WW/m—Hdw

)2

° Watch Video Solution

a-+x
a—

98. M IHeT Pl

o Watch Video Solution



https://dl.doubtnut.com/l/_C5OHoyBpXb6B
https://dl.doubtnut.com/l/_aQCOnT1XeKmX
https://dl.doubtnut.com/l/_ewnq9GJrRDpC

99. 5T TR [, | ——da
a— I

o Watch Video Solution

z2dz

100. A [dPA Pl | ——
V1 — 26

° Watch Video Solution

101. AATDT BEI: Jtan 2z tan 3z tan bxdx

o Watch Video Solution

102. Y15 S [— 22 dz

cos(x + a)



https://dl.doubtnut.com/l/_FxwHyDLDMjtR
https://dl.doubtnut.com/l/_9qiKm8yKDbbq
https://dl.doubtnut.com/l/_9AVlrLwTuFVa
https://dl.doubtnut.com/l/_gHLWdHRR79rU

o Watch Video Solution

sinz
103. THTHe BET: [— dz
sin(z + a)

° Watch Video Solution

in(z — «)
104. ST IHT BT dx

sin(z + a)

o Watch Video Solution

tanx — tan
105. STt BT: g
tanz + tan o

° Watch Video Solution



https://dl.doubtnut.com/l/_gHLWdHRR79rU
https://dl.doubtnut.com/l/_LpYKmDuRMIOI
https://dl.doubtnut.com/l/_YxII4e8v4ioS
https://dl.doubtnut.com/l/_ytNleFK91bCa
https://dl.doubtnut.com/l/_Dv4fSZdKR9X9

1 1
106.WWT:/6” (— — —)da:
i x2

° Watch Video Solution

107.%@:/%(1:1%90 + 1)dz

o Watch Video Solution

dx

108. ST 1PeT ET(?IT/

sin® z sin(z + «)

o Watch Video Solution

109.WWT:/6“’(COS:B — sinz)dz


https://dl.doubtnut.com/l/_Dv4fSZdKR9X9
https://dl.doubtnut.com/l/_HrLYyheRnnqb
https://dl.doubtnut.com/l/_ZO542yivUmlG
https://dl.doubtnut.com/l/_ckocxyRm6F5m

° Watch Video Solution

110.%25(2”:/9‘” [log(secx + tanz) + secz]dz

o Watch Video Solution

1—|—:13)
1115[H'I?IW'TZIT(?IT/\e dx

1—|—:1:)

o Watch Video Solution

12. ¥F1PT Sl [/sinx cos® zdzx

° Watch Video Solution



https://dl.doubtnut.com/l/_ckocxyRm6F5m
https://dl.doubtnut.com/l/_iXrmnhZoGAEe
https://dl.doubtnut.com/l/_E8ZVbV1EUVJt
https://dl.doubtnut.com/l/_KUqLUdb86nsn

dx

sinx + cos x

113. TR Bl

o Watch Video Solution

dx

3sinxz — 4cosx

114, 5IFTHT BT

o Watch Video Solution

115. STHIB BI: dz

cos 2z + +/3sin 2z

° Watch Video Solution

dx
v1+sinz

116. TR T Bdl:



https://dl.doubtnut.com/l/_Pw2PzVHg1jc4
https://dl.doubtnut.com/l/_Ai2f9U8mjE7q
https://dl.doubtnut.com/l/_t5Vj8JQSfRMt
https://dl.doubtnut.com/l/_nTYHJvZAtShX

[ o Watch Video Solution

dx

117. 1P eT Il:
z log z[log(log x)]

o Watch Video Solution

sinx + x cosx
118. A TDH T H(dl: - dz
rsinx

° Watch Video Solution

tan?
119. DT Bdl: _an g dx
secer — 1

o Watch Video Solution



https://dl.doubtnut.com/l/_nTYHJvZAtShX
https://dl.doubtnut.com/l/_qwpE7dWMu0AK
https://dl.doubtnut.com/l/_vRcQvBP9EP68
https://dl.doubtnut.com/l/_DLrjb9CdxsEe
https://dl.doubtnut.com/l/_4Tlpa40dXJLq

1+ sinz
120. IS T ;| — dx
sinz(1 + cos x)

o Watch Video Solution

1+ tanzx

121.5{‘EI'IWEIT(2IT:/—dm
1 —tanzx

° Watch Video Solution



https://dl.doubtnut.com/l/_4Tlpa40dXJLq
https://dl.doubtnut.com/l/_3Oaozslm5ijU
https://dl.doubtnut.com/l/_NloDRDNl37J0

>(-2)

Answer: D

o Watch Video Solution

123, / 9 _ Lioglf(e)| + e f(z) =
a? — x2 2a

r—a
T+ a
a—+ x
a—x

r + a
r —a

Answer: C

[ o Wiakl . \NnNdaa Caliidkiam


https://dl.doubtnut.com/l/_NloDRDNl37J0
https://dl.doubtnut.com/l/_7CLpNtmH4KiQ

L —  VYvdlilll VIUCTV JVIuULiVII

d
124. /—x — ksin ' = + catelk =
22 _ 22 a

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_7CLpNtmH4KiQ
https://dl.doubtnut.com/l/_2rQ76Iqvzw8F

125. (T dfoReN m/ dz TBIE

(px + q)vaz? + bz + ¢
NG fAfT St A, ©f 20—

1
Apr+q= —

z
B.ax? + br +c = 22

Car’+brt+c=2

D.ax’ +bx +c = 2°

Answer: A

° Watch Video Solution

TO L ek =

126./ 2da3 = klog

x2 — a2

4+ a


https://dl.doubtnut.com/l/_Uy20aqZRjVgM
https://dl.doubtnut.com/l/_VnNb5aemjfux

>

9]~ o1

D. QTid (BIHIB2 g

Answer: B

° Watch Video Solution

dx
_l_
TIPS J(ad ANt (AT Bt Y Oret 3 @—

127.Erfﬁa<0§§r,m/ THIPAD (I
var? + bz + ¢

A/ dz = log|lz + x> + K| + ¢

SV TR

B./%zlogw—k 2?2 — K + ¢
vae — k


https://dl.doubtnut.com/l/_VnNb5aemjfux
https://dl.doubtnut.com/l/_JR2lY2chLcEl

/ dr .. -1
C. |—————— = sin E—FC

V2

D.Aor B

Answer: C

o Watch Video Solution

A %tan_l 3% +c
B. %tam_1 3; +c
C. %tan‘1 2% +c
D. %tan_l 3% +c


https://dl.doubtnut.com/l/_JR2lY2chLcEl
https://dl.doubtnut.com/l/_wgqbJQiTDbZL

Answer: B

° Watch Video Solution

1 5+ 4z
A1
10 %85 4z | "€
8 110 5 —4x te
0 85 4z
1 5+ 4x
C.—1
50 85 a4z | €
1 5+ 4x
D. —1
20 85 4| €
Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_wgqbJQiTDbZL
https://dl.doubtnut.com/l/_HAjN6GeBwb5H
https://dl.doubtnut.com/l/_7qsyMsQnoglK

A lsin_1 2 +c
2 3

B.sin 2_33 +c

3

C. lsin_1 2—33 +c
3 3

D. lcos_1 2_x +c
2 3

Answer: A

° Watch Video Solution

131 / dz —
V2522 + 9

A 10g‘5:c + \/25$2 + 9‘ +c


https://dl.doubtnut.com/l/_7qsyMsQnoglK
https://dl.doubtnut.com/l/_av3j8He6W0G7

1
B. —log|z + 1/25x2 + 9‘ +c
1
C. —log|5z + /2522 + 9| + ¢

Dll 5z + 2+9+
.5oga3 x 55 &

Answer: C

o Watch Video Solution

dzx

132. A IPAA dEl: [ ——
422 4+ 9

o Watch Video Solution

133. AP IA 43(.4]:/
2x2 — 5

° Watch Video Solution



https://dl.doubtnut.com/l/_av3j8He6W0G7
https://dl.doubtnut.com/l/_K2uIXpW2ZVEP
https://dl.doubtnut.com/l/_wvNVQWkoczRg

134. BT~ Pl /d—m
16 — 25x2

o Watch Video Solution

1-—-m2)dm

135.WWT:/T(
xt +1

° Watch Video Solution

x2dz

136. AHTDdAA <D(.<Ii:/
9 — g6

o Watch Video Solution



https://dl.doubtnut.com/l/_wvNVQWkoczRg
https://dl.doubtnut.com/l/_SRLjhfB84eJp
https://dl.doubtnut.com/l/_uwO5Yr6IO3wp
https://dl.doubtnut.com/l/_6T0OhYnxO86e

137. A TH A <1>(.<1i:/ dz

Vz(4x — 49)

o Watch Video Solution

dx

138. AP~ ¢l [————
zv/x + 1

° Watch Video Solution

139. A PeTA <1>(.<1i:/—
et +e 7%

o Watch Video Solution

. . d
140. TR <D(.<II:/ z

NN


https://dl.doubtnut.com/l/_VQQdJY5NmTaN
https://dl.doubtnut.com/l/_1cGI3XNMjSeK
https://dl.doubtnut.com/l/_RTbz5pBiBGxA
https://dl.doubtnut.com/l/_ROquAACArorW

o Watch Video Solution

141. WW/
\/16:1:2 + 25

° Watch Video Solution

142, T 1HBAA <1>(.<1i:/
V3z2 -5

o Watch Video Solution

dz

143. TJIHAN BT
V49 — 922

° Watch Video Solution



https://dl.doubtnut.com/l/_ROquAACArorW
https://dl.doubtnut.com/l/_wxUx1E0P5lYm
https://dl.doubtnut.com/l/_gSYRyE9D2cAY
https://dl.doubtnut.com/l/_buHhzwaqi4F6
https://dl.doubtnut.com/l/_I6uZuJvNJG6i

_ _ dx
144. DA HEI: / 2
r + z(logx)

o Watch Video Solution

etdx

) /e2w _ CL2

145. TATH TN Bl

° Watch Video Solution

cos xdzx

146. ATTHAA <D(.<Ii:/
8 4+ cos? x

o Watch Video Solution

:c—l)

147. T1PA I [———
ry2 — x?


https://dl.doubtnut.com/l/_I6uZuJvNJG6i
https://dl.doubtnut.com/l/_0YUHxUIBNUu0
https://dl.doubtnut.com/l/_uR1ywinqnXYJ
https://dl.doubtnut.com/l/_ZobngO8ClaKK

o Watch Video Solution

r2 + sin® 9
148. TJTH T II: sec” xdx
1+ z2

° Watch Video Solution

_ _ /d(logzc)
149, HTHPAN P@l: [————
r+1

o Watch Video Solution

2
150.Ww:/ 1427 .
i

1+

° Watch Video Solution



https://dl.doubtnut.com/l/_ZobngO8ClaKK
https://dl.doubtnut.com/l/_7HoQYsHcfwUv
https://dl.doubtnut.com/l/_2wzgkfIg9ZIO
https://dl.doubtnut.com/l/_xoM0K3tZ1UQE
https://dl.doubtnut.com/l/_ONJxuwo7riHE

cos rdzx
151. A TH A H(Gl: /—

cos 2x

o Watch Video Solution

sinxdx

152. T THeTF Bl:

Ccos 2x

o Watch Video Solution

153. T IPBeTH Bl dz

M{l + (sin_la:)z}

° Watch Video Solution



https://dl.doubtnut.com/l/_ONJxuwo7riHE
https://dl.doubtnut.com/l/_Jrg96sARFX1A
https://dl.doubtnut.com/l/_Ggh5pBQ94DmF

dx

154, AHTH A HGl:

a:\/4 — (loga:)2

o Watch Video Solution

dx

x2 — 2ax

155. M THeTA Bl

o Watch Video Solution

dx

2ax — x

156. A THeTF Bl 5

o Watch Video Solution

2
. . rdx
157. A [PH A <D(.4|:/—
22 — g2



https://dl.doubtnut.com/l/_Q9w4QpQ34ceA
https://dl.doubtnut.com/l/_dci4vYd0Pde3
https://dl.doubtnut.com/l/_l1fULtlJZFAZ
https://dl.doubtnut.com/l/_4j6vFMfgk8En

o Watch Video Solution

dx

158. AT TPA~N Il [ ——
V2zx — x2

° Watch Video Solution

sec2 Z

159. AHTHAA <D(.<Ii:/ dzx

Vb —sec?x

o Watch Video Solution

dx
2 +4x + 8

160. AP T Bl

° Watch Video Solution



https://dl.doubtnut.com/l/_4j6vFMfgk8En
https://dl.doubtnut.com/l/_88tacPFYidPo
https://dl.doubtnut.com/l/_WgGnmj544hNd
https://dl.doubtnut.com/l/_fYO1kp8ArWh9
https://dl.doubtnut.com/l/_Fz9Or8Um65li

dx
161. YDA P[I: /
6x2 + Tx + 2

° Watch Video Solution

. . dz
162. Y TDH T~ Pdl:
1+ — 22

o Watch Video Solution

dr

163. WW/
4zt + 422 4+ 5

o Watch Video Solution

zdr

164. TATD T Bl
zt—22+1



https://dl.doubtnut.com/l/_Fz9Or8Um65li
https://dl.doubtnut.com/l/_1KNTmKJvnz1D
https://dl.doubtnut.com/l/_f0xW6yyxidHJ
https://dl.doubtnut.com/l/_FpxFF1zgowba

l ) Watch Video Solution

X
165. A TPHIA ¢(.<ﬂ:/ e’dx
5 — 4et — e22

° Watch Video Solution

166. THTDH T Bdl:

xv/1 4+ :1:3

o Watch Video Solution

dx

e o / [ logz)? — 6(logz) + 5]

° Watch Video Solution



https://dl.doubtnut.com/l/_FpxFF1zgowba
https://dl.doubtnut.com/l/_M2avHUX6zHLp
https://dl.doubtnut.com/l/_69puuw3HoIqU
https://dl.doubtnut.com/l/_VV6f0rUyCzUB
https://dl.doubtnut.com/l/_e8Tt5gx3BMjs

r -+ 2
168. AT TH T P{I: dx
x2 — 3x + 2

° Watch Video Solution

_ / (z + 2)dx
169. A DT~ P{I:
222 + 6x + 5

o Watch Video Solution

2z +1
170. 7J1HAF Sl [ ——d«x
z(z + 3)

o Watch Video Solution

x2dz

x2 — a?

171. TR T Bl:



https://dl.doubtnut.com/l/_e8Tt5gx3BMjs
https://dl.doubtnut.com/l/_tGEZv3F38ikR
https://dl.doubtnut.com/l/_1bjTH1n7ua2r
https://dl.doubtnut.com/l/_X7lLXIFW8ZB1

I ° Watch Video Solution

x2dz

172. 51T 1P T BT
x2 + a?

o Watch Video Solution

z2dz

x2 4+ 6x + 12

173. A THeTH Il

° Watch Video Solution

4
174. DT~ Pl /16:1: t2z+2 dx
4?2 + 1

o Watch Video Solution



https://dl.doubtnut.com/l/_X7lLXIFW8ZB1
https://dl.doubtnut.com/l/_yRZmkODex77g
https://dl.doubtnut.com/l/_7yo1gVNlwWfM
https://dl.doubtnut.com/l/_gh4gDgQe07sA
https://dl.doubtnut.com/l/_IYmaXAzkDl35

175WW/
\/:1:2—:(:—6

o Watch Video Solution

176. mﬂww/
V1

— o — 12

o Watch Video Solution

dr

177. srmww/
VbH — 4z — 222

° Watch Video Solution

dz

178. WW/
Vz2 — 8z + 15

r


https://dl.doubtnut.com/l/_IYmaXAzkDl35
https://dl.doubtnut.com/l/_9QudS4bXx3FS
https://dl.doubtnut.com/l/_LVMJhIg0Sumx
https://dl.doubtnut.com/l/_dSLVNeQUGxPs

I ° Watch Video Solution

. . dz
179. AT [H A <I3(.<|I:/\/(:Ij — a) (w — IB)

° Watch Video Solution

dr

x?2 4+ 6x +4

180. BN P /
V5

o Watch Video Solution

xdx
181. TP~ BEI: b2 > a?
/\/az—a)(bz—:v2)( > )

° Watch Video Solution



https://dl.doubtnut.com/l/_dSLVNeQUGxPs
https://dl.doubtnut.com/l/_HIarzqJ1rUax
https://dl.doubtnut.com/l/_ug6t5qeCpEgM
https://dl.doubtnut.com/l/_T3fsdH4WQS8d

. . sec?® zdz
182. S P eTA Pdl:
vbhsec2x — 12tanz — 1

° Watch Video Solution

cos rdzx

183.WWT:/
V6 + 11

o Watch Video Solution

etdx

— be? + 6

184. A TPIv W/
\/62$

o Watch Video Solution

2%dx
\/41: . 2:13—1—2 i 5

185. A TH A <D(.<ﬂ:/


https://dl.doubtnut.com/l/_NzRu8biLAW1Y
https://dl.doubtnut.com/l/_4B5h2Ql0LBg4
https://dl.doubtnut.com/l/_MamSMkrli0uy
https://dl.doubtnut.com/l/_Yk9nwDHV4kE9

o Watch Video Solution

pr +4q

186. TP Pl [————

dx

° Watch Video Solution

o Watch Video Solution

2zdx

188.WW;/
V1 — 22 — 24

° Watch Video Solution



https://dl.doubtnut.com/l/_Yk9nwDHV4kE9
https://dl.doubtnut.com/l/_zqZq7NEv452p
https://dl.doubtnut.com/l/_jWKwucyEx2k2
https://dl.doubtnut.com/l/_RcHspjLyV1lM

. . 5 — 2x
189. AH DB A~ ICI: dx
Vb + dx — 2

o Watch Video Solution

2+ x
190. ST TH A~ Pl 2_wdw

° Watch Video Solution

2¢ +1
191. AH DA H{l: dx
3x + 2

o Watch Video Solution

192, TP P |, / a4 ; T dz


https://dl.doubtnut.com/l/_zNCkYnOWLjd5
https://dl.doubtnut.com/l/_Blve2IbUT0LA
https://dl.doubtnut.com/l/_SGoe42Uj4ICO
https://dl.doubtnut.com/l/_KwwKnDPe89aP

o Watch Video Solution

(2z 4+ 1)d=z
V2 + 4z + 3

193. A THeTF Pl

o Watch Video Solution

. . d
194. 1P <D(.<II:/ &

(z + 2)vz + 3

o Watch Video Solution

dr

195. WW/
22 + 3)v/Z + 5

o Watch Video Solution



https://dl.doubtnut.com/l/_KwwKnDPe89aP
https://dl.doubtnut.com/l/_0aEc3tENqfRZ
https://dl.doubtnut.com/l/_l0AUDpYp3E2n
https://dl.doubtnut.com/l/_F5Kx5ZqvYCD3

dx

2,3 .2, 1
3:1: zc—|—3

196. AP TA <1>(.<1i:/

o Watch Video Solution

197.WWT:/(1 _d;f)ﬁ

° Watch Video Solution

Vxdx

rz—1

198. AH DB A~ BCI:

o Watch Video Solution



https://dl.doubtnut.com/l/_PnfkQRESLpvk
https://dl.doubtnut.com/l/_NYVBGoYJTKEN
https://dl.doubtnut.com/l/_y95KwAiv4J6y

199. ST TP Ty BT

x\/2ax — a?

o Watch Video Solution

200. THIHeTv Bl

a:\/w —CL

° Watch Video Solution

. . dzx
201. S TPpeTAd <D(.4|:/

(14 z)v/1 — x2

o Watch Video Solution

dx

ZOZWW/
z)v1+ 2z — x2


https://dl.doubtnut.com/l/_uEYOaQpjUUXo
https://dl.doubtnut.com/l/_qYqVrIUWh3Am
https://dl.doubtnut.com/l/_m8vf477CCnvK
https://dl.doubtnut.com/l/_WWtTLOcFTYNf

o Watch Video Solution

dx
zvr? +x + 1

203. MATHAA Pl

° Watch Video Solution

204. AAIdcTA <1>(.<1i:/ dz
(1+ z)v1+ 2z — z2

o Watch Video Solution

dr

(14 22)v/1— 22

205. WW/

o Watch Video Solution



https://dl.doubtnut.com/l/_WWtTLOcFTYNf
https://dl.doubtnut.com/l/_OnWATbVN4JDX
https://dl.doubtnut.com/l/_bqjEInDJNByN
https://dl.doubtnut.com/l/_X7cdMKe4l3Y9

206. / dz
(4 — 322)v/3 + 42

o Watch Video Solution

207. / dz .
(3 4 422)v/4 — 322

o Watch Video Solution

208. /(33:2 —4r + 2) dx

o Watch Video Solution

dr
209. /(J3 — 1)3(:1: — 3)2


https://dl.doubtnut.com/l/_MqBZYU5thhAp
https://dl.doubtnut.com/l/_PeskLfdn6cDz
https://dl.doubtnut.com/l/_kbD5PMLvF4bo
https://dl.doubtnut.com/l/_L4BVZtk2gPzQ

° Watch Video Solution
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° Watch Video Solution

211. /\/1 + cos ecxdx 99 AIH AI—

o Watch Video Solution
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212./ T dz
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o Watch Video Solution



https://dl.doubtnut.com/l/_L4BVZtk2gPzQ
https://dl.doubtnut.com/l/_JLVLh7smF5wP
https://dl.doubtnut.com/l/_h5p4rYe3GTmV
https://dl.doubtnut.com/l/_Z1cAq5Mg9XLY
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° Watch Video Solution

214, AP A DI : /:os x cos ecxdx

° Watch Video Solution

215. Im

sinz + sin’® z
I—/ p— dr = Acosxz + Blog|f(z)| + T

Od—

A. A=1/4, B=-1/sqrt2, f(x)=(sqrt2cosx-1)/(sqrt2cosx+1)


https://dl.doubtnut.com/l/_oRpSpxOjaX2p
https://dl.doubtnut.com/l/_bcUHG3k0nYCh
https://dl.doubtnut.com/l/_gLADbRdGQbX1

B. A=1/2, B=-(3)/(4sqrt2), f(x)=(sqrt2cosx-

1)/(sqrt2cosx+1)

C. A=-1/2, B=3/sqrt2, f(x)=(sqrt2cosx-1)/(sqrt2cosx+1)

D. A=1/2, B=(3)/(4sqrt2), f(x)=(sqrt2cosx-

1)/(sqrt2cosx+1)

Answer: B,D

° Watch Video Solution
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https://dl.doubtnut.com/l/_gLADbRdGQbX1
https://dl.doubtnut.com/l/_cbnV8F7dcVWX
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217. IW [sin? z cos® zdzx = —[w— i
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° Watch Video Solution

dx

218./
sm(a: — E)cos (a: — 3)

° Watch Video Solution
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219. IMm € dx = —log i
e2* 4 6e* + 5 A e’ +

A9 FIF d—
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https://dl.doubtnut.com/l/_cbnV8F7dcVWX
https://dl.doubtnut.com/l/_jEgsTF5t51se
https://dl.doubtnut.com/l/_SwpNyeE9IcIJ
https://dl.doubtnut.com/l/_sN3KzpFuncmO
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220. IMm z_ T dr = tan ! ac + g
z* + 16 K\/2

Od Kad g1 2(d—

o Watch Video Solution

21 FE I, f(z) = 5 LES
x4+ 32249
$2
9(@) = x4 4+ 32249
(9) /{f(w) T g(2)}de =

A. (1)/(2sqrt3) logabs ((x*2-sqrt3x-3)/(x"2+sqrt3x-3))+c

B. 1/3tan”-1"((x"2-3x)/(3x))+c


https://dl.doubtnut.com/l/_sN3KzpFuncmO
https://dl.doubtnut.com/l/_nqAJWE3qRQit
https://dl.doubtnut.com/l/_wLylpcXZsAKY

C. (1)/(2sqrt3) logabs ((x"2-

sqrt3x+3)/(x"2+sqrt3x+3))+c

D. 1/3tan™-1"((x"2+3x)/(3x))+c

Answer: B

° View Text Solution

222, ¥R IA, f(z) = a3e

$2

9(z) = xt +322+9
(i) (9) /[f(w) — gla)}dz =

1 x? — \/3z — 3
2v/3 |z ++/3z +3

1 1(:{:2—390)
B. —tan — | +c

A.

log

3 3z


https://dl.doubtnut.com/l/_wLylpcXZsAKY
https://dl.doubtnut.com/l/_trnazr6Dmjw7

1 2 — 3z +3
2¢/3 2 + /3 + 3

1 2
o Lin -1 (ﬂ) Lo

C.

log

3 3

Answer: C

o View Text Solution

° Watch Video Solution

224, /J-’””da,-

o Watch Video Solution



https://dl.doubtnut.com/l/_trnazr6Dmjw7
https://dl.doubtnut.com/l/_6qxoqbrV7M6z
https://dl.doubtnut.com/l/_hXCzgW06F7IN

225. /g' (z)g(z)dz =

o Watch Video Solution

226./9'(:13) dr =

g(z)

o Watch Video Solution



https://dl.doubtnut.com/l/_hXCzgW06F7IN
https://dl.doubtnut.com/l/_gPPef4F5HrTm
https://dl.doubtnut.com/l/_N5Qub4mhJIqa

